PERIMETER HEADTRACK

PERIMETER HEADTRACK

1A 1B
2" STUDLESS WALL 2" STUDLESS WALL
N TAPPED FOR 1/2” N TAPPED FOR 1/2”
THREADED ROD THREADED ROD
(ROD BY OTHERS) (ROD BY OTHERS)
8 8
CUT TRIM CUT TRIM
AROUND BRACKET\ — AROUND BRACKET\ h—
-
e o iy
= ‘ — e . —
® 3 5 " 3 5
DOUBLE STICK DOUBLE STICK
TAPE B \@ TAPE B \‘@
8 |1 |VARIES TURNBUCKLE ASSEMBLY ZINC 8 |1 |VARES TURNBUCKLE ASSEMBLY ZINC
7 1 M0654 CEILING PANEL PERIMETER TRIM SNOW 711 MO654 CEILING PANEL PERIMETER TRIM SNOW
6 |1 |MO859 HEADTRACK (FASTENFR SPACING- 24”) SNOW 6 |1 |MO859 HEADTRACK (FASTENER SPACING- 24) SNOW
5 |4 [0120525 SELF DRILLING SCREW - 5 |4 |0120525 SELF DRILLING SCREW -
4 |1 |VARIES 2" CEILNG PANEL SNOW 4 |1 |VARIES 2" CEILNG PANEL SNOW
5 |2 [E0013 ALUMINUM_COVE BASE (FASTENER SPACING— 247) [MILL 3 |2 |E0013 ALUMINUM COVE BASE (FASTENER SPACING— 247) [MILL
2 |2 |E0015 PVC COVE SNOW 2 |2 |E0015 PVC COVE SNOW
1 |1 |VARIES 2" WALL PANEL SNOW 1 |1 |VARIES 2" WALL PANEL SNOW
No.Qty|ltem No.|Description Finish No.Qty|ltem No.|Description Finish
1C CEILING SEAM CONNECTION
2" CEILING SYSTEM
TAPPED FOR 1/2
THREADED ROD
(ROD BY OTHERS)
i @
6
5 1 S
|
S HH—®
COLD WELD
9 |1 |E0055 ALUMINUM CONTINUOUS SPLINE -
8 |2 |VARIES 2" CEILING PANEL UPVC
7 |1 |36108 1/2"-13 LOCK NUT ZINC
6 |5 [840682 5/16” LOCK WASHER ZINC
5 |1 |MO758 4=WAY TURNBUCKLE PLATE ZINC
4 |1 ]36110 JAMB NUT, 5/16-18 (3/16” THICKNESS) ZINC
5 |4 888000 LOW HFAD CAP SCREW, 5/16-18 X 1” ZINC
2 |1 1126326 SHOULDER BOLT 3/BUNC X 3/8 -
1 |1 |C0006 TURNBUCKLE TUBE ZINC
No.|Qty|ltem No. |Description Finish




